Disequazioni intere di primo grado

Risolvi le seguenti disequazioni.

l.x—(4e—-1)<7

[z > —2]
2.3c+3(x—1)>5+2x
[z > 2]
3. (1-3z+3(2r-1)<-2-3z
< 1]
4. z—34+2x+4(z—-1)<zx+1
[ < 3]
3z—1 3 xz—1
5. T 1<y
[z < 3]
rz—1 x+1 z+1 x—1
6. 5= — ¥ <* -
[x < 11]
7.3@4+)-Lz-1)>%2+1)+22
[z < 1]
8. —(=2%(z—3)(@+ 1) +z+4(x—1)(z+2) <z —16
[z > 5]
9. o+ 4 —3(4 —dz) + (2 +4) (—4) <z -9
[z < —4]
10 —z+ 22— B-2)]+3—-2(;—22)+7<1lz -5
> 9]
1. 24+ @2e—-1) 2+ - Bac(1-1)’z—2d 1y
[z < 6]
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z+2
12. 4 +2(-e+g) > (3 -q2) + 52 - F
6 3
[17>7%¥ﬂ
13. 2(x2+2)2+(x2—4)2+x(x—1)<3x4+m2—x—25
[impossibile]
z— z 2 |z
4 22— ot 5> 5~ (e+ 1)+ 5 (20 - 1) + o
[z < 3v2]
15. 4(x+1)—7+3(4r+4) -3(x-2)<3(z—2)+11
[z € R]
(z-2)° 1 1.2
16. —F——2(z+1)> 3@+ (@—1)+ (—32) +z+2
3
[;’1;<le0}
17. 42z —4) 2z +4) —z(x+1) > —(de+1) 4z —1) — (z+ 2)(x — 2)
[z < 59
18. (9) 2 (z+1)—4{22+ [Ja— (@+1)]} <42z +1)
o > 4]
19. {22 —-[-z—(z—- 1) +42] -3} +22-3(z—-1)>4(1-32) - &
[;1‘>—3}
20. B2 -2) L - (2-3) 5 - S <@-1)(@+1)+ Z2(l - La)
o
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